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an pald Rs 1650 as Zaxat Find his savings:
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Simplify with the help of exponential law x?. ¥3

Find the value of the value of logs 27
Write the next two terms in A.P. <202........
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8 Find the arithmetic mean betwsen 3¢5 and 945 :
9 IfU={1234587), A(258) B={123) then prove that (A UBJ = A' B’
1
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0. Domain of a binary relation R = %x y]tyﬂﬂ in set Wis {0,4,8}. Find range of R.

1, Determine ntalhur or nol, the fo

Ewan (2,0 xry=
ind the median uf the given values 34,6811

Section = C =y Marks: 24
Note: Attempt any THREE questions, All questions carry equal marks.

Qi A shopkeeper bought 5 dozen shampoo bottles at the rate of Rs.2400 per dozen and sold them: for
Rs.210 each. Find his profit or In:s parcent.

(86.2%(37.37)
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oV Which of the following relaticn on a set {ab,c,d} are functions? Also state the kind of functions
() {@blbcrcdda) . (i) {(ba)cd)(bd)(db)

vy Calculate the range, variance and standard deviation for thie following discretydata
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owing ordered pair is Ihe solution of the linear equation

Q-V  Simplify with the help of Ingarrthm
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